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<10> <pkljnbdpkph>> 2014p

SULNRULESP NLUL
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Zujwunwth Zubpuy binmpjut wyhnwlwbh pmeth dhgngutph hwpyhti hpuljwbgynn gumdbikph
nbupnud

Nunnyhpunmb - Upwpwwnh dwpgh Enkquunjwith gynuquu binwput
( puwnr pnigkwnuyhl Swjuukbph gbpumnbuswlinl puuwljupguub)
Opughpp
Ulduinulp Uywpwwnh ywhywbiwb swhukp
pwdhli 1 fundp 1 nuu 1 dpughp 51
(puwnn pmigbwnuyhl wjuubph gnpéwnbuwljul puuwljupguub)

Uy puiipukph swnwympynibiitph b Sudwl Quithdwl Uhwinph | Cungudbup | Lwbuwl
wohmunwpkph wijuinmdukpp pun alp Uhwnp puwn ghup gnudupp
wnbnkunnih unbnkjunnmh | /gpudnd/ | /hwg.npud/
1 2 3 4 5 6 7
UNLULR
ALELUYUL MPSNR3LLES BY
A UUBL3UYUSPL MULUSULED
30197622 poupe A-4 /xerox/ PLUZ hunn 1750 26.250 15
30197622 poupe A-4 PCUZ hunn 2000 60.0 30
39263200 gqpuubiywluyht ghpp PLUZ hun 400 2.0 5
30192160 ouphju PCUZ hun 250 1.5 6
30234300 nuunupl ujujunul PLUZ hwwn 150 3.6 24
22811170 uomdubkph pouyp PLUZ hun 150 1.5 10
22851200 pnpuywbul §ndqud PLUZ hwwn 350 2 6
30197233 pnpuwywiwl phikpnyg PCUZ hunn 80 24 30
30197231 prpwuywbwlu uy RPLUZ wnuth 1000 4.0 4
30197232 pRpwuywiwul wpugqulup PLUZ hun 60 3.0 50
30197232 | prpuwywbwl wpuquljup/uwunhy, PCUZ hunn 200 2.0 10
qnibiun]np/

30197233 pnpwwywhwl nkghunp PLUZ huwwn 1100 44 4
30192137 dwwnpwn /huuwpuly/ PLUZ hwwn 50 1.0 20
30192111 pwbwph pupdhl PLUZ hunn 500 1.0 2
30197100 | Yuphsh dbwnwnujupk Juukp /dhohty/ PLUZ wnith 200 2.0 10
30192128 qphs ghjuyhta PLUZ hun 150 6.0 40
30192125 dwplkp PLUZ hwuwn 250 1.0 4
30196100 pinljunin PLUZ huin 500 1.0 2
30192230 uljnny PCUZ hwwn 250 1.0 4
35821400 npno PCUZ huwiwn 2600 5.2 2
30197221 unipuly PLUZ wnuh 300 1.5 5
30192700 ubinuuly /dkS/ FLUZ huwn 60 0.6 10




30192700 ubnuwly /Adhohty/
30141210 hwoyhs Ukpkiw
24911200 unuhtd /bdnyuhuw/
30192730 Pmlhmiﬂlﬂl Juysnil juqu
22811120 ppwdwplnuyhb Eph opytp PLUZ huwn 5 1.0 200
22811120 npwidwplnuyhi Ununph opnkp YRLUZ hun 5 5.0 1000
30197340 wuyjuljuiphs PLUZ hwwn 250 0.750 3
pligudkup 150.0
Spwluynpunuyhli ympkp
09132200 Pkuiqht / nkgnyyup/ £OUL {hwnp 459 600.0 1307
09121700 Puwljuil quq PLUZ fud 180 300.0 1667
pugudkup 900.0
Utipktwlbph pipwghl inpngnud
Uypwutip
42121530 Ubpkuwlbph pwpdhsutph dwubp b 130.0
wuwpwqubkp
34351200 Uupdukp /wdwn-dudtn/ 42500 170.0 4
punudkup 300.0
Uyjpwuip
45461100 | Thunwlymp pupwghl inpnquwi hwiwp PLUZ - 100.0
pugudkip 100.0
Stunbuwlwl b uwlthhghkbhl ympkp
39812600 Uunwhwiithy dwppnn dheng PLUZ hunn 400 1.6 4
39831280 Uwwlh jJuiwyne hkngndy 1) PLUZ hunn 1800 1.8 1
39812100 Zunnwly dwppnn hkngoly 2; PLUZ huwn 2500 Z5 1
39812410 Yuthnijph thuy kging dheng 0.5 | PLUZ huin 2600 2.6 1
39812600 Uywuph jugdwb hknniy PCUZ huwn 500 2.0 4
39811300 Zmnwqbpdnn dhong PLUZ huin 500 1.0 2
39831272 Uyniig whuk duibiugne PLUZ hunn 100 0.5 5
39800000 Zunwly dwippkjnt gnpéywsp PCUZ hwwn 600 1.8 3
/wnihukpuyghty/
39221470 Uk PLU2 huin 900 1.8 2
39221140 Unip&h puduljnkip PCUZ wnnuth 5000 5.0 1
39221140 @hjh pudwljukp PCUZ wuinuth 7000 7.0 1
39513200 Uudtpnghlukp /Eplokpun/ PCUZ hunn 240 2.4 10
Cunudkup 30.0
OUNuUsNkE3NLL
72150000 Uwubwghnwlui Swpwnipinih PLUZ npud = 80.0
72200000 h/h b ¢/h puquujh uyywuwplnud PLUZ npud 53000 53.0 1
72200000 nbntjungul. hwd. vywuwpynud PCUZ npud 6000 72.0 12
32412120 | huunkplbun juyh Swpuwynipjub wpdbp PLUZ npud 11000 132.0 12
32412120 htunbplubn juuy /gndkih 12000 12.0 1
uywuwpljdwb wpdbp/
32412121 dhpujwd hkpwpunuwljuuh PLUZ npud = 200.0 2
Swinuynipinil
64211130 Foowjhi hknwjunuwluuh PLUZ npud 50.0
Swnwnipinil
79100000 hpujwpwiiwljul Swrwnipnih PLUZ npud - 150.0 -
09121700 qugh Jupd PCUZ fud 156 500.0 3205
09000000 k1. Eukipghuyh uipd PCUZ w/d 42 300.0 7143
71631120 Swrwynnuijub w/d nku.quinud PLUZ npud 25.0 2
66514100 Suwinuynnuijub w/Adl wyww PLUZ npud 60.0 2
22211100 phipph pudwiinpyugpnipinil PCUZ npud 49.0
50311120 hwdwlupgswihb uwpp PCUZ npud 100.0




uwppwynpnidibph uvywuwplynid
Sunud shwiinhuwgnn dwuu
99000000 wouunuupd 17100.0
99000000 Uglwnwyjupd /ypuipghwnpnud/ 1255.0
plugudkup 21618.0
Opwgph winjwtinulp Lwjuwnypnguljub Yppmpymb | ¢
pwdhli 9 junudp 01 nuu 01 dpwghp 51
Sunwd shwinhuwgnn wy) Swhiukp
99000000 pupwghy gpudwobnphikp 20U4-hi npwd 7150.0
pungudkup 7150.0
Opwgph wijuimup Cinhwinip pinyph wy) Swn-u
pwdhli 1 junwdp 3 quu 3 dpughp 51
Ownuynipjnih
50310000 | Cunhwlnip piinyph wy Swouynipinth 500.0
pugudkip 500.0
Opwigph winjutinudp Snyph tjunndwdp hpuyniiph
qpuignd
pwdhti 01 funudp 06 nuiu 01 dpughp 60
Ownwmpym b
70120000 Snyph qpuiignud 250.0
72160000 y b winipp/wywpunughp 50.0
J&wpukp/
punudkup 300.0
Opwgph winjwnup Ljhpunngnipynit wy) swhnype
shtnwybinnn juquulkpynipymtikpht
Pwdht 10 junudp 07 nuiu 01 dpwghp 55
Qunud shwinhuwgnn dwuu 200.0
99000000 | plulkiip 200.0
Opwgph winjubnuip Spgwlw dhgwjwyph
wuonywinipinil /Unpuhwbnipyniy
Pwudhti 05 junwdp 01 nuiu 01 dpwghp 51
Uyypuiip
09134200 Tthqbjuyht Junkihp PCUZ 1hwp 400 200.0 500
/undwnuyhty/
09121700 Plwlub quq PCUZ Jud 180 100.0 556
Qunud shwlinhuwgnn wy
Sdwhuubp
99000000 wohiunw]upd npuyd 1160.0
punudkup 1460.0
Opwgph wijubnud 2wdwipuht dpwlnyph b
wquun dudwiigh juquulkpynd
Pwdhl 08 funudp 02 quu 03 dpwghp 51
Uypulip
39220000 Uykplubip /bpblawiibphty/ £CUZ npund 300.0
39220000 Ukpukp /qqunbkpuquh PLUZ npud 100.0
YbEwnbkpwbtbphiy/
39220000 Lykplkp /unpuyuulikphty 300.0
Ownwjnipinil
79952100 Uowljnipuyhtt dhgngundwb PCUZ npud 300.0
Juquulbpynud
phgudkp 1000.0

Opwgph wijuimd Zubghuwn dpulnype Ypnt
Pwdht 08 funudp 05 nuu 01 dpwghp 51




Uy puiip

39220000 LYkpukp /gnuquphuy PLUZ npud 500.0
Yuiwtg dhg. opyju wnphy/
39220000 Uwypuwiiph dknp phipnud PLUZ npud 400.0
/nplnkqhty
601120000 Cunhwbnip punyph wy 100.0
Swinuympnil
Qumu shwbinhuwgnn wy
Swhiubkp
99000000 woluwnu]upd 5400.0
punudkup 6400.0
Unghuwjulub wywonuywbmpnih
Pwdhl 10 junulp 07 nuu 01 dpwghp 54
Qunud shwbinhuwgnn wy
Sdwuukp
75310000 wyj] byywuwnlikp pymgkhg npud 1500.0
75310000 hnuqupljuynpmpiub buyyuwun npud 300.0
punudkup 1800.0
Opwgph winjuwinuip Pupdpugnyb Yppnipinii
Pwdhl 09 jumup 04 quu 01 dpwghp 54
80300000 wy] byywuniikp pymokhg npud 200.0
pugudkip 200.0
Opwgph winjuimd Phwljupwtughb
2httwpwpmpinit b §nunibu Swowynipymb
/thnn.|niuunnpopinily/
Pwdhl 06 hunuwip 04 nuu 01 dpwghp 51
Ownuynipjnih
65310000 | k. Bubpghuyh Juipd PLUZ yyw/d 42 600.0 14286
Uyputip
44300000 |ntuwinnt uwppuynpnudubph b PLUZ npud e 400.0 =
withpudbown yupwquikph
Akinp phipnud
plugudkup 1000.0
Opwgph wyjwbnd Qpuyhti junnyghkph
owhwgnpdmu b wwhujwbnd
Puidhti 06 Junudp 06 quu 01 dpwghp 55
Ownwympynil
65000000 gpudwnuwlupupdui &wp PCUZ fud 43 950.0 22093
Qunud shwbinhuwgnn dwiuu
99000000 woluwnu]upd npud 850.0
pugudkup 1800.0
Opwgph wijubmdp Qupswlijwb pmgkh npud 2284.4
wwhnuwnuwjhli $nlin
Pwdhl 11 funuwdp 01 nuu 02
punudkp npud 2284.4
| CLYUUBLE 45712.4




